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import java.util.Scanner;
public class ComputeArea |
public static void main(String[] args) {
—> Scanner input_ = new Scanner (System.1in); ’)7
(Fing? doubl

1
2
3
: 2
5

é —> System [ N ter the M)f circle:");
8

= 5
—> double (radiusFromUser)) t.ne
—> doublg 2 A x| TadiuskromUzer 4 PI;
_>System. .print ("Circle with radius " + radiusFromUser);
—

System.out.println(" has an area of " + area);
\

If the user enters a positive radius value as expected:

Enter the radius of a circle:

(©)

Circle with radius 3.0 has an area of 28.26

However, if the user enters a negative radius value:

"ircle with radius —-3.0 has an area of 28.26
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start of if-statement

BooleanEzxpression;

lse if ( BooleanExpression, ) { /% Optional x*/
Statement, 1; Statements »;

/* as many else-1f branches as you like */ BooleanEzpressiony
1lse if ( BooleanExpressionn, ) { /# Optional #*/
Statement,, 1; Statementy, »;

¥
lse { /# Optional x/
/* when all previous branching conditions ar
Statement,; Statement,;
}
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end of if-statement

True

BooleanEzpression,,

Statement,, 1 | I Stat: tn.2 [




Only first satisfying branch executed; later branches ignored.

[
| ipt > 1

1 b/

l§73fém OUC;Drlﬂtln("éilS negative"));
’_} 7
—Jelse i@ {/

bystemfgﬁfjg}%gzln("i is less than than lO"lj

} 7 N
\\éi:e iE(i == 10) |
/4 ystem.out.println("i is equal to 10");

}

else {
System.out.println("i is greater than 10"); \//

}
-

{1 IS negative
.



start of if-statement

True

BooleanEzxpression;

Statement 1 ,—b{ Statement; o }—o

. /* as many else—-if branches as you like =/
lse if ( BooleanExpressionn, ) { /# Optional #*/

7
~
BooleanEzxpressiony >

Statements.1 l>—>~ Statementz 2 '—>

False

>S<atemenl‘n,1 ; Statement, »;

1se { /# Optional x/

/% when all previous branching conditions ar
Statement,; Statement,;

True

BooleanEzpression,,

Statement,, 1 |
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end of if-statement




Only first satisfying branch executed; later branches ignored.

Té%b

X System out.println("i is negative");
}
Yelse if ({)< 10) ¢
[System.out.grinf7n("i is less than than 10"),}
}
else if(i == 10) {
System.out.println("i is equal to 10");
}
else {
System.out.println("i is greater than 10");
}

—



start of if-statement

A é'“%lz ﬂ'\a Gotomert,
_
if ((@eanExpressio ) { /* Mandatory */
4 @tatemenn T7—Statement, 1;

) { /* Optional */

... /* as many el - _[:ﬂzes as you like */
else if (@@ { /% Optional #*/
{Statementm ; Statement, 5;
}
else { /#* Optional #*/

/% when all previous branching conditions ar

Statement,; Statement,;
}

%M
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aclaates o e M’ﬁﬁ =
bat, “Zooleawtéqw«rovtz

&Ialu{&'tes -b '&S& end of if-statement

Statement 1 H Statement; o }—0

Statementz 1 ,—»{ Statements o }——»

Statement,, 1 I | tat tn.2 r

Statement,




start of if-statement

A é'(%le 11'\ Giotoment,

True

BooleanEzpression,

Statement 1 ,—b{ Statement; o }—o

if ( BooleanExpressiony ) { /% Mandatory =/
Statementy 1; Statements 1 ;

}
else if ( BooleanExpression, ) { /% Optional x*/

Statement, 1; Statements »;

BooleanEzpression,

/* as many else-1f branches as you like */
else if ( BooleanExpressionn, ) { /# Optional #*/
Statementn1, ate ent,,z,

*

/ * Optlonal
when all previous branching conditions ar

Statement1 ; Statement,;
}
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True

BooleanEzpression,,

s/
Metw

Statement,

/gmle&/\&r«%m/ll
%olmz

Statements

Statementz 1 ,—b{ Statementa.o }——»

Statement,, 1 |

end of if-statement




No satisfying branches, and no else part, then nothing is
executed.
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No satisfying branches, then else part, if there, is executed.

[
| int i =@
if (@ <_OF{

K[ﬁystem.out.println("i

} -
clee if <@> {
X[§ystem.ou .println("i

} IS
else if(Zj:€:Z§D {
X(System.out.p intln("i

is

negative");

less than than 10");

equal to 10");

} 70{-? cm‘f
else )/
stem.out.println("i

greater than 10"):]

}
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. [~ -
else if (Score >= 70.0)
System. ouft=prin :
) =
=S .4,

else if /é
Q,

——

System.Out.

}

else {

SYStem.out.-rintl@ﬁigiy;
}
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String, lettGrade =§§Eﬂ>

Go ( Sfibopsaanim) . 0) |

letterGrade = "A";
}
{else 1f/ (score >= 70.0)
etterGrade = "B";
} §”0
(35?%{255 (score >= 60.0)
letterGrade = "C";

}
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public class ComputeArea {
public static woid main(String[] ar

59;
{ /* condition of invalid inputs */

|[public class ComputeAreaZ2 ({

}

public static void main(String[]

System.out.priptln("Enter a radiu a

.out?ﬁrintln("Error: Negative radius value!");
else { /* implicit: ! (radius < 0), or radius >= 0 */
double area = radius % radius * PI;
System.out.println("Area is " + area);
}
}
args) |

-");

Scann new Scanner (Syste
final i;il- = 3.14159;
if

}

—iﬁlse { /% implicit: ! (radius >= 0), or radius < 0 */
élfystem.out.println("Error: Negative radius value!");

}
}

b) { /% condition of valid inputs =/
radius x radius x PI;
,ﬁ? ystem.out.println("Area is " + area);
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